172 - Expressions and Equations

Which answer is the solution to 4(x + 5)= 52
a 2
) 4

) 8

n o

02754 5=1
a) 1.855

b) 6.275
c) 46.375
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Which answer is the solution set for 5y = 357?
a)y<7
b) y<7
Qy=7
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452%21=7?

a) 6.62
b) 9.492
c) 12.018
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Which point is at (2, -3)? }:

a) A H b

b) B

c E -

AP0t RIED,

'4'5':9;'I"h;e_ Number System

24.56 + 10.875 =7

a) 13.685
b) 35.435
c) 36.235

319 piey

88 «The Number System
In which quadrant is the coordinate pair (10, -6)?
a) Quadrant |

b) Quadrant Il
¢) Quadrant IV
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Grade 6 Math Sprint A

Nearest Tenth

Round to the

Nearest Tens

# Correct

1 8.49 16 729
2 2.039 17 | 10059
3 | 47429 18 | 7389
4 | 120988 19| 19%
5 9.957 20 3
Nearest Whole Number Nearest Thousandth
6 2.75 21 | 9.9017
7 0.05 22 | 84597
8 8.499 23 | 3.8803
9 | 55555 24 | 18.9999
10| 199.998 25 | 13.3392
Nearest Hundredth Nearest Hundreds
11| 15394 26 | 1239
12 8.397 27 204
13| 167.308 28 | 23974
14 | 0.8553 29 999
15| 8.6907 30 50




